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Prenex, Skolem and Clausal forms and Syllo-
gism
1. Give the prenex, Skolem and clausal form of the following formulas:
p(a) A Jz—p(x)
Va [p(z) = Vy [Vzq(z,y) = =Vzr(y,z)]]
Vep(x) = 3z [Vzq(x,z) v Vzr(x,y, 2)]
dzp(z, 2) = Vz [y p(z, 2) = =Yy p(z,y)]
[z p(z) v Iz q(x)] = Fz [p(x) v q(z)]

2. Determine the predicates and the formulas of the following syllogisms,
state their mode and figure. Using a Venn diagram, determine whether
these syllogisms are valid, quasi-valid, ...

Vo (Q(z) = R
vz (P(z) = Q(x)) ( (z) A C( )
va (P(r) = R(z)) 3z (C(z) A —A(z))

3. Is the following rule a syllogism? Can it be transformed into a syllo-
gism? Is it correct?

Vady [-Q(z,y) v R(7)]
HxVy [P(z) A Q(z,y)]
Jy [R(y) A P(y)]




